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46- Let X be an (absolutely) continious random variable. then ,

1) the probability that X takes a given value of X is not known

2) the probability that X takes a given value of X equals one

3) the probability that X takes a given value of X equals to fx (X)

4) the probability that X takes a given value of X equals to Zero

47- In statistical terms, a .... Can be any set or collection of objects.
1) set 2) number 3) population 4) sample

48- A sampling distribution is nothing more than the probability .... Function for the
statistic.

1) mathematical 2) density 3) random 4) variable

49- For the mean test, the details differ, depending upon what ..... we are able to make.

1) assumption 2) samples 3) sets 4) hypotheses

50- It 1s very often useful to compute ...... , to compare variability between different sets of
data.

1) mean deviation 2) variance

3) coefficient of deviation 4) standard deviation

51- Identify the level of measurement used in the following.

Ali, who is different in many ways, measures time in days, with O corresponding to his birth
date. The day before his birth is -1, the day after his birth is +1, and so on. Ali has converted
the dates of major historical events to his numbering system. What is the level of
measurement of these numbers?

1) nominal 2) interval 3) ordinal 4) ratio

52- Human body temperatures have a mean of 98.20 ° and a variance of 0.64° .

An emergency room patient is found to have a temperature of 101° . Convert 101° to a z
score. Is that temperature unusually high? What dose it suggest?

1) 4.38,yes , patient is ill 2) 4.38, No , patient is not ill

3)3.5, yes , patient is ill 4) 3.5, No, patient is not ill

53- Complete this sentence

The ............ (also called the H test) is a nonparametric test that uses ranks of sample data
from three or more independent populations. It is use to test the null hypothesis that the
independent samples come from populations with the same distribution; the alternative
hypothesis is the claim that the population distributions are different in some way.

1) Kruskal — Wallis Test 2) wilcoxon Rank — Sum Test

3) wilcoxon Signed - Rank Test 4) Rank correlation Test

54- wich sentences is not correct?

1) standard deviation of population is often called the standard error of mean
2) the best point estimate of population proportion is sample proportion.

3) the sample mean is the best point of the populationmean.



4) S is the best point estimate of variance of population.

55- if two of the items shown below are randomly selected . find the probability that both
items are colored green . this items are used in test of proportion.

Red , yellow , green , red , blue , green , yellow

Assume that non of the selected items is replace before the other are selected.
4 4 2 2
1) — 2) — 3) — 4) —
) 49 ) 42 ) 49 ) 42
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